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Introduction
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Measurement items

[m] C-V, C-F characteristic : Freederic transition voltage, LC = & Z 4|
] Residual DC

@] Voltage Holding Ratio

(@] Polar Anchoring Energy : Extrapolation length

@] Average Cell-Gap, LC H| X &, LC N-I point, A| 22| & &F ==,
=] JIEt: CpRp/CsRs/Z-© Curve
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System Block Diagram
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W CinFi [ Rel. C [ Summary - 20 10
0.0 4 543 1,000 | Test results @ B = Step frequency (KHz) ]—I—UUUj
05 4,643 1,000 Freederic transition voltage (V) = 1,932 T T,
1.0 4,543 1.000 T —
1.5 4,545 1,000 el 1l)/e(L) = 1,619 0.001 0,01 01
20 4 576 1,007 Test voltage (V) o=
2h 5241 1,154 Total test points = 41 =
3.0 5,935 1,306 ]
35 | 6383 1,405 Reference C (nF) = 4,543 U 5 10 15 pal
4.0 A= 1,472 \ " " " " \
45 £.900 1.519 Minirurn C (nFY = 4.543 s 4000 G000 8000 10000
Frequency (Hz)
Freg, (KHz) [ C(nF) | Rel, T ] Surnmary i‘
0,100 5397 083  Testresults : Smoothing level 7=l
1,103 5138 0,794 Total test points = 11 =
200 498 | 07 T T T
3125 4,843 0,748 Reference C (nFy = 6,472 0 5 10 15 20
1,167 4,789 0,740
5172 4,761 0,736 Minirmum C (nF) = 4,729
E,000 4,746 0,733 Minirmurm Rel, C = 10,731
7,059 4,740 0,732 at frequency (KHz) = 8,000
8,000 4,746 0,733
9.231 4,755 0.735 Maxirnurn C (nF) = G.472 ﬂ Measure
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Relative capacitance

Residual DC curve
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DC Bias voltage (4)

CnF) | Rel. C ]| Summary
0.0 4,543 1,000 [ Testresults :
05 4,643 1.000 Freederic transition voltage (V) = 1,912
1.0 4,543 1,000
1.5 4,545 1.00m Relative Cap, of RDC = 1,50
20 4,654 1,033
EL] 5,146 1,133 ROC Plus (V) = 0,564
3.0 R 736 1,263 W10V = 4,364, W2 (V) = 3799
35 B,237 1,373 ROC Minus () = 0,573
4.0 B.E14 1,456 W3 (V) = -4.378, W4 (V) = -3.805
45 6.590 1.517
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D,Il 02 5 g é g é Final voltage (V) 0=
COACY) Oscillation voltage (4)
T T —
v CinFy | Rel. C [COACWY] CO/C | Summary - -4 curve i 5 10 15 20
0.0 4533 1,000 0,195 0602 | Testresults @ B st Hage (V) ——
05 4,633 1.000 0,185 0,599 Polar Anchoring Energy (J/m?) i ep votiase =
1.0 4,537 1,001 0177 0,596 = 30,622e-05 = e B B R B
1.5 4,621 1.019 0,168 0,594 3 1
20 4,900 1.081 0,161 0,591 Extrapolation length {nm) = -
75 5307 1180 | 0154 050 = 29,009 & Test frequency (KHz) A —
30 | 682 1,285 0,148 0,587 =100 T T T T T oo
35 6,230 1,314 0142 0,586 Tatal fitting points = 24 1501 01 1 10 100 1000
4.0 6,546 1,444 0137 0,584 Start fitting voltage (V) = 85 e ——
45 E. 784 1.497 0132 0.583 End fittina valtage (%) = 20.0 Il 4 5 3
Oscillation voltage (V)
W [1Z] (Ka) [ Rel [Z] [ & (deg.) | I Surnmary i‘
0.0 1,053 0,995 -83,93 Test results Smoothing level T=
1.0 0,912 0,862 -81,18 Total test points = 11 =
TEO| 067 069 -7 R e e B R
30 0,532 0,503 =720 Reference | 7] = 10,5862 +02 1] 5 10 15 20
4.0 0,462 0,436 -70,65
60 | D427 0,403 -69,45 Minimum | £ = 37,6528+01
(1] 0,408 0,335 -5, 63 Minimum Rel. 121 = 0,358
70 | 039 0,374 -B8.20 at woltage (V) = 10,0
6.0 0,369 0,367 -67.86
9.0 0.384 0.362 -67.64 Maximumn |21 = 10, 586e+02 ﬂ Measure
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